2000LBS HYDRAULIC ENGINE CRANE
OWNER’S MANUAL




/I\, WARNING:
*Read carefully and understand all ASSEMBLY AND OPERATION INSTRUCTIONS before operating. Failure to

follow the safety rules and other basic safety precautions may result in serious personal injury.

*Read and understand all instructions. Failure to follow all instructions listed below may result in serious injury.

*Do not allow persons to operate or assemble this Hydraulic Engine Crane until they have read this manual and have
developed a thorough understanding of how the Hydraulic Engine Crane works.

*The warmings, cautions, and instructions discussed in this instruction manual cannot cover all possible conditions or
situations that could occur. It must be understood by the operator that common sense and caution are factors that
cannot be built into this product, but must be supplied by the operator.

/I\ ADDITIONAL WARNINGS:

1. DO NOT USE MOTOR OILIN THE CRANE.

2. ONLY USE ANTI-FOAMING JACK OIL

3. ALWAYS USE A GOOD GRADE HYDRAUUC JACK IL

4. DO NOT USE HYDRAULIC BRAKE FLUID, ALCOHOL, GLYCERINE, DETERGENT, MOTOR OILOR DIRTY OIL

5. USE OF A NON-RECOMMENDED FLUID CAN CAUSE DAMAGE TO A CRANE.

6. AVOID MIXING DIFFERENT TYPES OF FLUID AND NEVER USE BRAKE FLUID, TURBINE OIL, TRANSMISSION FLUID,
MOTOR OILOR GLYCERIN, IMPROPER FLUID CAN CAUSE PREMATURE FAILURE OF THE CRANE AND THE POTENTIAL FOR
SUDDEN AND IMMEDIATE LOS5 OF LOAD.

7. DISPOSE OF HYDRAULIC FLUID IN ACCORDANCE WITH LOCAL REGULATIONS.

HYDRAULIC ENGINE CRANE USE AND CARE
*Do not madify the Hydraulic Engine Crane in any way. Unauthorized modification may impair the function and/or
safety and could affect the life of the equipment. There are specific applications for which the Hydraulic Engine
Crane was designed.
*Always check of damagad or worn out parts before using the Hydraulic Engine Crane. Broken parts will affect the
Hydraulic Engine Crane operation. Replace or repair damaged or worn parts immediately.
*Store idle Hydraulic Engine Crane. When Hydraulic Engine Crane is not in use, store it in a secure place out of the
reach of children. Inspect it for good working condition prior to storage and before re-use.
*Not for use by children or people with reduced mental capacity.
*Do not use under the influence of drugs or alcohol.
*Ensure children and other bystanders are kept at a safe distance when using crane.
INSPECTION
*Inspect the crane carefully before each use. Ensure the crane is not damaged, excessively worn, or missing parts.
*Do not use the crane unless it is properly lubricated.
*Using a crane that is not in good clean working condition or property lubricated may cause serious injury.
*Inspect the work area before each use. Make sure it is free and dear of any potential hazards.
OPERATING INSTRUCTIONS
BEFORE USE
1 Before using this product, read the owner's manual completely and familiarize yourself thoroughly with the product and
the hazards associated with its improper use.
2 Perform the air purge procedure. (See previous instructions for system purge procedure.)
3.Check and that the pump operates smoothly before putting into service.
4 Inspect before each use. Do not use if bent, broken or cracked components are noted.

2



IMPORTANT: It is possible for air to enter the hydraulic system, causing poor lifting performance. Purge any air

from the systern by fully opening the release valve (tum handle counterclodkwise as shown). Then while holding the
boom down, operate pump handle rapidly several times.

MAINTENANCE INSTRUCTIONS

If you use and maintain your equipment property, it will give you many years of senvice. Follow the maintenance
instructions carefully to keep your equipment in good working condition. Never perform any maintenance on the
equipment while it is under a load.

Inspection

You should inspect the product for damage, wear, broken or missing parts (e g.: pins) and that all components function
before each use. Follow lubrication and sterage instructions for optimum product performance.

Binding

if the product binds while under a load, use equipment with equal or a larger load capacity to lower the load safely to
the ground. After un-binding; dean, lubricate and test that equipment is working properly. Rusty components, dirt, or
worn parts can be causes of binding Clean and lubricate the equipment as indicated in the lubrication section. Test the
equipment by lifting without a load. If the binding continues contact Customer Service.

Cleaning

If the moving parts of the equipment are obstructed, use deaning solvent or another good degreaser to clean the
equipment. Remove any existing rust, with a penetrating lubricant.

Lubrication

This equipment will not operate safely without proper lubrication. Using the equipment without proper lubrication will
result in poor performance and damage to the equipment. Some parts in this equipment are not self-lubricating inspect
the equipment before use and lubricate when necessary. After cleaning, lubricate the equipment using light penetrating
oil, lubricating spray.

-Use a good |ubricant on all moving parts.

-For light duty applications, use lubrication once a month.

-For heavy and constant application, weekly lubrication is recommended.

-NEVER LISE SANDPAPER OR ABRASIVE MATERIAL ON THESE SURFACES!

Rust Prevention:

-Check rams and pump plungers on the power unit assemblies daily for any signs of rust or corrosion.

Without a load, lift the eguipment as high as it goes and look under and behind the lifting points. If signs of rust are
visible, clean as needed.

How the Long Ram Operates

With release valve closed, an upward stroke of the long ram handle draws il from the reservoir tank into the plunger
cavity. Hydraulic pressure holds the valve closed, which keeps the oil in the plunger cavity. A downward stroke of the
long ram handle releases oil into the cdinder, which forces the ram out. This raises the hydraulic ram. When the ram
reaches maximum extension, oil is bypassed back into the reservoir to prevent an over extended ram stroke and
possible damage to the long ram.

Opening the release valve allows oil to flow back into reservoir. This releases hydraulic pressure on the ram, which
results in lowering the hydraulic ram.

Storing the Crane

1.Lower the Lifting Arm.

2 Place the handle in the upright position.

3 Store in a dry location, recommended indoors.

Note: If the crane is stored outdoors, be sure to lubricate all parts before and after use to ensure the crane stays in good
working condition.



ITEM DESCRIPTION ITEM DESCRIPTION
1 BASE 9 POST
2 WHEEL HUB 10 BOLT M16X90
3 BOLT M14X35 11 BOLT M16X80
4 BOLT M14X23 12 BOOM
5 WHEEL WORKING ARM 13 PIN
6 BOLT M16X80 14 BOOM EXTENSION
7 JACK HANDLE 15 BOLT M14X80
8 JACK (3TON) 16 HOOK AND CHAIN




5

‘--:.35 0 ‘:‘::\-ﬂ. t-‘d\*\-& *—‘C}‘@

ISET s.r..

Sedo Logaie o Uil i A& BDL300 00
ia Drorateri di darpas, @ - 40024 Mlaghia (LN} 02 333 To0 20G
Tl i e #3390 (DT SRR ] 02 333 70 268
ISTITUTO SERYIZI e s of alia torm wetw Bpl- Lo oy WM 2 B0
EUROPEI TECHOLOGICI

Ny N

-

CERTIFICATE OF COMPLIANCE

Certificado de Conformidade - Ceprudurar coornererona - Konformititserkliirung

-—

1) APPLICANT: 2 CERTIFICATE Nt).:
Shandong Jndo Hoisting Equipment Co., Lid IT41417ID1 711 10
No.88,Forth Strect.B-2-4 Haode Guangeai Trade Square,
Weicheng District, Weifang. Shandong. China TCFS) NoL:

ﬁ TCF(17)-332-MD

o
My
y

-

—

2
%

W 3 WTTH REFERENCE T I:‘{'JJIR'EL‘HEE APPLIED: 4} {'ER$IL'A TION ISET MARK:
Machinery Directive 2006/42/EC

) ¢

HARMONIZED STANDARDS APPLIED:
EN IS0 121002010 EN 16851 "I:lt?

EN 60204-32-200%8 ﬁ, % "

5 PRODUCT CHARACTERISTICS: Mulu-function Crane

L=

MODELS): TN 1000 N 2000 TN5000

prodisciis) saiisfies the requircnrents of ifi ification Mark af ISET, i ereree fo e above fist standandfs),
The above compliance mark can be fixed an the products g fer O INE T regufation about its refease, This
verification decsn 't inply assessarent of tre prodwction and sh
Netice af the CE marking: The label of the CE marking: Not less than Sme height,. Before
putting the productfs) inte moarket, CE marking awd EC declaration are duties of the
c manufacturer, The mannfoctnrer is responsible to stard the CE marking certiffcation procedore
aurd b perfors afl the activities according fo (e Directive,

REMARK: The veriffcation has been w%wl et o voluntary busis. We affest that @ TCF i in ploce. The

L2 PN

L

M &) DATE OF ISSUE: 10011/2017

-

CERTTFICATION MANAC

-

A g o




< 270mm

8/\

SN/ \V

g16mm

O O

w
=)
3
=

é

(p

N
7/

105mm

O

270mm

lllustrasjonen viser malene til fundamentet for kranen. Vaer oppmerksom pa at disse malene ikke ngdvendigvis trenger a stemme helt overens med kranen
du mottar. Toleranser i produksjonen kan fere til noen millimeter med avvik, og man ma derfor foreta mal av fundamentet til kranen man mottar, fgr man borrer hull.



	side 1
	side 2
	side 3
	side 4
	CE
	Fundamentmål Preben11

